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General Instructions :

(1) All questions are compulsory.

(i1) This question paper consists of four Sections A, B, C and D.
Section A contains 8 questions of one mark each, Section B is
of 10 questions of two marks each, Section C is of 9 questions of
three marks each-and Section D is of 3 questions of five marks

each.

(it1) There is no overall choice. However, an internal choice has been
provided in one question of 2 marks, one question of 8 marks
and two questions of 5§ marks weightage. A student has to
attempt only one of the alternatives in such questions.

Qus A
SECTION A
1. U S0 ddisC fo Sa-fafaydr Fle-wuie &= 1 Faiiys g &40
Ye &l It 2 | ]

State one reason why maximum protection is provided to
biodiversity ‘hot-spot’ regions.
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2. HH4A Sl § U WI-9s § G4 fhad v faqitad gid & ? 1

How many ova/ovum does a human female normally release in
one menstrual cycle ?

3. B-aH®mA g 3@ Siaus! (AaiEs) sl HoLg i T3 &1 o
STl 8 ? Ueh U] SqTsU | 1

Why are the antibodies produced by the B-lymphocytes
referred to as HolLy ? Give a reason.

4. USASH HAT T AL HITIHIT &1 1 1 sl &, 93¢ | 1

State the function of mast cells in allergy response.

5. AT dFe H ‘ori’ Tl YiHHI FATT | 1

Mention the rolé of ‘ori’ in a cloning vector.

6. Cry Il AbSfiH & fo =19 g &1 danfaes am fafee | 1

Write the scientific name of the source organism for the gene
Cry 11 Ab.

7 GEAC = qu-qu foifgu | 1
Expand GEAC.

8. Tt srgadsht (VWseiewd) § gewefiwmueti/am s & & |
AT Sas B FINEH F FE THR F HIRER-fAWSE g g,
A forfEgg | 1

Mention the type of cell division the cells of the sporogenous
tissue undergo to form microspores/pollen grains in an

anglosperm.
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10.

11.

S57(B)

@vus B
SECTION B

gl UHHH 99T A4 qSell o s 98 AH dretl AqUEdisis
EqIfshaT 1 A1 foilge va 30+ favg 4 s93Ee | 2

Name and explain the interspecific interaction that exists
between sea anemone and the clown fish.

(a) Ta=fafaa # | fopa wifvri 5 smer 9= g 8 2 2
i)  Ufrhfea
ii) TLT8ed
(iii) 9e&f
(iv) HSAl
(b) SRIFASEA &1 Uk JAATH dd1sU |

Which of the following animals undergo external
fertilization ?

(1) ' Amphibians
(11) Reptiles

(iii) Birds

(iv) Fish

(a)

(b) Mention one disadvantage of external fertilization.

Il 1 Ueh-Ush ISTEWN ¢d §U, Hishd Jfaierv Ud qiied Tfaieo | e
FaTsT | 2

Differentiate between active and passive immunization giving
one example of each.
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13.

14.

15.

16.

57(B)

a1l § 3Ny UG Ueehlgial GE9AIT & @iy 91 AW e fosi
A CLUCCIH

List four common warning signs of ‘drug and alcohol abuse’
among youth.

EETETT AH gEaSidl @l g8 99 W I H §91 HEd e,
HHHATRT |

Explain the importance of growing microbes like Spirulina on
a large scale.

Ul i3 IR fafedl il g s7ET s g A4l § HaiRes S
fopa ST wE IcUTE | v g B3 7

List any four ways in which genetic modification of plants has
proved to be useful in crop production.

SFYrEnfiEhl I3 # I9AM fRY A atel DNA @Ugl & YU&l |
SETTA_hl SH 9Tl deAtes ol A9 foifgy | DNA @USi sl JI&u

g yaR fopan siman 2, forfau |

Name the technique used in separating the DNA fragments to
be used in biotechnology experiments. Write how does the
separation-of DNA fragments occur.

fafafaa & gwifad Sfausy fofan

(a) Tordl U fawagmsii 39 " U919 991 T &4 H 1Y & o«
R0 U T ITH F, Fdid &

(b) 39 Eft &1 NEs 3 &1 T d98 ‘0’ &, qU1 39 9id H T
e ‘A’ 2

Write the possible genotypes of the following :

(a) The F; progeny of a cross between a heterozygous tall
pea plant and a dwarf pea plant.

(b) The woman whose son has blood group ‘O
husband has blood group ‘A’.

2
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17. "Ha1 § S fagm aun TR fgm g1 &1 91-37991 F1 SR Bl
g, Tt | 2

Mention the cause of Down’s syndrome and Turner’s syndrome
respectively in humans.

18. ‘Sifda & o= uwefl srggeil fafemor =1 v 399 3@ 8 |’ 39ah
AT Faq13u | 2

HATT

frfifigd § €@ 9 SH-HH ¥ G 7 I= ggEiAC H qugl am
gId 9T STd 8 31 @Y & HHEAHE & I TE€Y & 49 | fefge
g gftomeasy 9 g 9q

(a) JATFI9d qYT Tl <l 3@

(b) HMEAl a¥l Hd s 37 g

(¢) - ERFFEHE] & $I¢ qUT FHUSeT & JaH
(d) UIATGYT SicHAl & fFaqd (1)

‘Darwin’s-finches are a good example of adaptive radiation.’
Justify.

OR

Identify the examples of analogous organs from the following
and name the type of evolution these are the result of :

(a) Eyes of octopus and mammal
(b) Fore limbs of human and cheetah

(c) Thorns of Bougainvillea and tendrils of Cucurbita

(d) Flippers of penguins and dolphins

57(B) 6
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SECTION C

19. MUY (Fegar) i wew fafemn gro mifaaior ffg R § 981 8
qTaT ? 39 199 &1 Ueh AT 9971 Ueh 37eTTH §q15¢ | 3

How do the surgical methods of contraception (sterilization)
prevent conception ? Mention one advantage and one

disadvantage of this method.

20. HHE9 IR I ° WYUHs defa ¢ 9 U §E.y49E i fev 9
I 39 fedigs =R & favg 4 guger Sas 9 8 9@:99E <l
YTehideh Sl TUsl § BIer SIrdr 2 | 3

HAAAT

AT | A4 G STEyFad 8§ =71 371 8, 9d15¢ | 399 ¥ I+
%1 Teh-Ush o9 HI 13T |

Explain the secondary treatment that is given to the effluent
from the primary-settling tank in sewage treatment plants
before the effluent is released into the natural water bodies.

OR

Differentiate between inbreeding and outbreeding in cattle.
Mention one advantage of each one of them.

21. 3F W &1 9M fafge N 7Ma gfaer—==dar @ (HIV) & A IR
HYaY B T W IGH QA2 | T8 T HE Igi a8 2 @Hes | 3

Name the disease that Human Immunodeficiency Virus (HIV)
causes when it enters a human body. How is the disease

caused ? Explain.
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Aftreh fiordr | 9§ ST @ ? T R SArsy | 3

List the steps of primary succession in water. Why is climax
community reached faster in secondary succession than in

primary ? Give a reason.

23. A fRdl & 3em & 9 fafge e wirf qon AT H 91 &
d1g UGNl w1 ka1 Bld1 2 | THT &1 & foh 2.5 ATSshIHI 41 364
FH o THR & HUH YGIYT Sl FHd e & U 98d g
T ATdl 8 ? ¢ R0 §arsl | 3

Name any two industries that release particulate and gaseous
air pollutants. Why are particulate matters of 2-5 micrometers
or less in size considered very harmful for human health ? Give

two reasons.

24, AHARERG: THAIIANG AFE $HI0H o 3I9G § &I Tl 1 8,
qq13T | Teh TR et Uiet ToTgl = 39 fohg YR &9/ T, 9asmse | 3

Mention the main challenge for the production of genetically
engineered human insulin. Explain how it was produced by

Eli Lilly, an American company.

25. T SFfEn & Hiqt sgifigd (Tiasrgss) U U €9 %7 % RNA
& &l & faug ° fdfgu | 3

Write the functions of three different types of RNA transcribed
in a bacteria.
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26. AN v Bleed &l Uleheudr =1 off, SA1ET 3T 919 & 98 fAshd o
forfigu frE 9t 3791 w9 QU i & 918 TE.0E. W gg=n o | 3

State

Oparin and Haldane’s hypothesis and write the

conclusion S.L. Miller arrived at after completing his

experiment.

27. 91 YU ol & fafgg fafire @&on & 9= s9©T | 39 UK &

o8, et yudt 1l B B i wipa @

o57(B)

ferdlt U g9 1 I8N ST |

List the various characteristic features of wind pollinated

flowers. Give one example of such a flower.

- @uE D
SECTION D

HAAA1

(a) WGl H IEHOIGAT qgT USIVEHA ol f9iedl § 37at «qrsy |

(b) UME IGEHIV_h HEY A YT IS % YA-3Y4 HAI Hl GUM

iy |

Explain the process of double fertilization in a flowering plant.

OR

(a) Differentiate between the manners of spermatogenesis

and oogenesis in humans.

(b) State the functions of the middle piece and the tail of a

human sperm.
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29. (a) WUedd fgda T &1 F, W@&UYET 37IG o1 Bdl 8,
fafan | 38 evEd HUE w1 WEEw w9 fEm #
T Toilgu qn 39 favg § gu=su | 5

(b) EEUHIAT 9UT SESAT JumTfd H F41 AW 2, A% 6 [H-Uh
JETET T TR |

HAAT

(a) U IfFAFEEE & UThl o A1 AI@T | Teh YfFaEmEs fhd
YRR H UHT JFAAeEe 59 6 7, SEH R AT agaed
g1 Tsh DNA difeigfFasiierEgs a4 Smal & ?

(b) 3H Y@ H fITHH [ 99 I GHATT |
(c) uifcIYfFasTierse J@at ¥ 5 ag1 3/ & #=1 qid & ?

(a) Write the F9 phenotypic ratio of Mendelian dihybrid
cross.« iName and state the law that explains this

phenotypic ratio.

(b) Differentiate between pleiotropy and polygenic
inheritance with the help of one example of each.

OR

(a) Name the components of a nucleoside. How does a
nucleoside become a nucleotide that polymerises to form
a DNA polynucleotide ?

(b) Explain the complementary base pairing existing in this
chain.

(¢) What do 5" and 3" ends in a polynucleotide chain refer
to ?
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30. TH Thd o U Ul e (3l-Fc1a) 4 Teh GRASHT 3YATS
ST 39 o1 “Thal H 3 FURIE F §4941 FH HHQ 3 IGHT fhd
YhR H Yagd fhar S |7 3| fafyE wenst & wiAel, 9%
FHAMNIT YT Thel I heH & TGl & d1Y e GE=d s91d 7Y
S TR | 5

(a) 39 RASHT & a9 W, FHRU Fdq1d §C 3GAT GOV THATST |

(b) Thpel H &4 dTdd T HiI i A & 9w fafEe i g3
goft o 3L ot ST |

(¢c) 3F UMY & Yaua $I Hi3 g fafemm gzmsu |

Members of an eco-club of a school took up a project on
“Reduce the generation of solid waste in the school and how to
manage it”. They worked in close association with the different
class monitors, safai karamcharis and the members of their

school canteen.

(a) Explain yvotur view giving reasons on the topic of the
project.

(b) List, giving examples, the three categories of the waste
generated in the school.

(¢) Suggest any two ways of managing the solid waste.

57(B) 11 50
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